CHED Mr 1
a) F(x)= 72 s'n (13 x) = lm,o/f/u/t

a=17
Pevirode - 27—_ 2~
R P il
6} F(x)= 3 srn [0,$)<) = az 3
pe Bl Sgg
0,5
¢) My) 0,4 s (100yx) = a= 04
=B ool
100 §o

d) Hole =2 9w (=L} 9 o= |-2t=9

P: Z/I_Z;;’

-

st Furhleon urm

1 7 LE noch rechls
V(r.r(/’a£€"
e) Fd= 05 sm (4(x-) = g= g5
= o _ 1y
/7 == - 17

3LE nacn rechts Vevrchp bo,

F) Hx)s -5 (4 (x +0,2))

= a=]—4]=4
g 50
4 z
§ 1453 4 2 ; 4
a} Fly)- sivn (b x) ,/7*// = p-z_/:ﬁ'a) s 2
L) Flx)=sin(hbx), p=4T = 2= 28 o7 22'4“
p
¢) Fix)= un(bx) =7 = p:_z_ & b=33/’"

d) fO) = Sin(X) ;=2 H pa L-25b20-294- 1
/

—_—,



